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QUESTION 1

Which two statements about subnet masks are true? (Choose two.) 

A. If a bit is turned on (1), the corresponding bit in the IP address is used for the host portion. 

B. If a bit is turned off (0), the corresponding bit in the IP address is used for the host portion. 

C. If a bit is turned on (1), the corresponding bit in the IP address is used for the network prefix. 

D. If a bit is turned off (0), the corresponding bit in the IP address is used for the network prefix. 

Correct Answer: BC 

 

QUESTION 2

Which statement is true when using the allow command and deny command attributes when creating user
permissions? 

A. If you allow and deny the same commands, the Junos OS will fail the commit check. 

B. If you allow and deny the same commands, the allow command permissions take precedence over the deny
command permissions. 

C. If you specify a regular expression for allow and deny with two variants of a command, both will be ignored. 

D. The all login class permission bits take precedence over allow and deny when a user issues the rollback command. 

Correct Answer: B 

 

QUESTION 3

You have been asked to configure your MX240 with a default route toward your upstream ISP at IP address
192.168.100.1. 

Which command successfully completes this task? 

A. user@router# set routing-options static route 0.0.0.0/0 next-hop 192.168.100.1 

B. user@router# set routing-options default route 0.0.0.0/0 next-hop 192.168.100.1 

C. user@router# set forwarding-options static route 0.0.0.0/0 next-hop 192.168.100.1 

D. user@router# set protocols default route 0.0.0.0/0 next-hop 192.168.100.1 

Correct Answer: A 

 

QUESTION 4
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What are three terminating actions for firewall filters? (Choose three.) 

A. reject 

B. drop 

C. permit 

D. accept 

E. discard 

Correct Answer: ADE 

 

 

QUESTION 5

Click the Exhibit button. 

Referring to the exhibit, which OSPF feature would connect Area 0 to Area 2? 

A. Route summarization 

B. Database synchronization 

C. Equal-cost multipath 

D. Virtual link 

Correct Answer: D 
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